
SNAPSHOT



Guess the hidden  
part of the photo



 the cat has bitten its     

  leg .

frightened

 The dog looks so

 _____________________                                  

 because

 



The car has stopped                        

because

its driver  is  taking             

pictures  of tornado .



   The man looks                             

     __________                           

    because 

a strange animal                                                                    

is flying to him.

confused



happy

The boy           

looks

 ______

because

he is flying  

his kite.



The boy looks           

_________        

because

he is doing boxing  

with his dog.

excited



The man gets               

___________  

with 

angry

his daughter                       

because of rubbish 

on the rug



The boy looks  

_________
because

 
he has just seen  

a donkey’s               

head in his car.

scared



The woman           

looks 

_________          
because
a monkey is                 

stealing her                           

vegetables.

nervous



The boy looks 

__________
because

panda is taking 

his pictures.

surprised



Bye - Bye!


